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—ddsiE =8 800,000, 000& 800,000
< 130,000
i 670,000
307 glz2tol & 25,000 95,000 A70,000
< 10,000
s 15,000
02 It MAHEE 25,000 95,000 A70,000
OZHIEx= AL 25,000
—oHAAAZEINE OHAEH X2A 25,000
< 10,000
s 15,000
402 RI2FX=201 M 204,875 280,000 AT5,125
= 87,937
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< 28,800
[ia 47,200
02 QI EAIL EZ (OIS ) 76,000 131,500 A 55,500
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120,000, 0002 *1JH 2 x50% 60,000
< 24,000
s 36,000
—EY &0 A
16,000, 000 *2JH 2 x50% 16,000
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[ia 11,200
SEHASBHEX R 14,000 11,000 3,000
< 8,000
e 6,000
402 RIZEX201 ™ 14,000 11,000 3,000
< 8,000
e 6,000
02 RIZEXt 2 AL EZ (OIS ) 14,000 11,000 3,000
OEHIEXZAY 14,000
— SENBUHE T XA
14,000, 000& 14,000
< 8,000
i 6,000
=2 = 77,800 68,300 9,500
201 Let24d] 7,300 7,300 0
01 At 22/l 7,300 7,300 0
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
12 JIEtE2 A= 15,000 0 15,000
OB Relns 2dAIEE 300,000 503! 15,000
401 Al HI L £ 0HHI 5,000 0 5,000
01 Al& H| 5,000 0 5,000
OHXE Xse &1 ¢ 5,000,000 *1JH & 5,000
405 XHA&HF S HI 5,000 15,000 A 10,000
01 XA 2 FF S| 5,000 15,000 A 10,000
OQMEH RU(HHHE 5)
1,000,000 x5 5,000
stuxstEsSA A 4 387,160 289, 160 98,000
201 et 226,660 86,660 140,000
01 AP 2t 2| bl 60,460 60,460 0
OgtdstEsSA 22 MHE 1,000& *5,000% 5,000
OSASHESA SHOHLHE HE
1,000,000 *20JH 2~ 20,000
Oty 2242 100d SAXFR B
10,000,000 =1 Al 10,000
OSAXNF AZENH SXNEX(ZHOIAX)
42,000,000 *13% 5,460
OSESAE AMHIADE 10,000,000 24! 20,000
02 222 4| 1,200 1,200 0
OSAXNT UXNNE AES 2222
100,000& 12& 1,200
03 A2 HH| 165,000 25,000 140,000
OMNLSA HAl L AlAIS] JHE
5,000,000 13| 5,000
OskESA HHLIEH 29
160,000, 000& 14! 160,000
202 044l 2,100 2,100 0
01 2L Y| 2,100 2,100 0]
OFHY AN &EH ¥ EFSAH2 #XI0orY
70,000& x5 «63] 2,100
206 M = dl 12,000 12,000 0
01 X2 bl 12,000 12,000 0
OUHESA HEASSNE Mgy
400,000 «108| *3 0t & 12,000
207 I | 18,000 20,000 A 2,000
01 A& 18,000 20,000 A 2,000
ONASESA N L Meis Mg
18,000,000 = 1Al 18,000
301 et A =2 18,400 18,400 0
09 HAIAHIXIE 2 4,000 4,000 0
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MM sE=ENSFABHLY
EHe: XRASHE (2 &HH)
SA BB O () - HEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
OKESAES N #X0r 2,000,0002 x23| 4,000
12 J|IEtE2 A= 14,400 14,400 0
OBESA HENY L AHADS AL
400, OOOOJ* 1238310 & 14,400
307 QI2t0| ™ 30,000 30,000 0
02 AI2tAMAIE E =X 30,000 30,000 0
OSESA SHAMY 30,000,000& = 14! 30,000
401 AlEHIZL 201 Y| 40,000 80,000 A 40,000
01 Al&H| 40,000 0 40,000
OSESA AN EHE AIE 40,000,000 x14! 40,000
402 SI2FXHE0| & 40,000 40,000 0
01 BIZtXIE ALY E X (KM TH ) 40,000 40,000 0
OSHESA SHEAMY 20,000,000 *4 4 2~ *50% 40,000
HE AME s X& 5,000 5,000 0
= 2,500
=} 750
= 1,750
307 QI2t0| ™ 5,000 5,000 0
= 2,500
= 750
= 1,750
02 AI2tAMAIE E =X 5,000 5,000 0
OZHIEZAY 5,000
~SUSEUED NS HISAME BS
2,500,000 *2JH & 5,000
= 2,500
& 750
= 1,750
SOIOHE SHAIEAISE (EH|) 50,000 0 50,000
= 15,000
= 35,000
307 2Iz2to| & 20,000 0 20,000
= 6,000
= 14,000
02 QIZHA AAIE E X 20,000 0 20,000
OEHEZAY 20,000
— SJI%tE S8 AMY 20,000,000 * 104 & 20,000
& 6,000
= 14,000
402 SI2FXH=20| & 30,000 0 30,000
& 9,000
= 21,000
02 CIZEXIEAIS E X (0| XM THLH) 30,000 0 30,000
OEHEXZAY 30,000
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B SENANBNY
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= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—SIE SdMY 30,000,000 =104 2 30,000
< 9,000
[ia 21,000
SMSIHS 1,078,490 597,681 480,809
= 110,000
= 176,500
[ 791,990
S&2 IS ALY 240,350 240,350 0
201 LBt 40,000 40,000 0
03 &Ar2 I 40,000 40,000 0
OalZetea &It 20,000,000& =23] 40,000
202 (4l 3,150 3,150 0
01 =i HI 3,150 3,150 0
Oslt3AsE 882 H#2MA
70,0003 x3& %153 3,150
301 LA F 7,200 7,200 0
09 #HALAHIXI &3 7,200 7,200 0
Os&SIISEENE NS 60,0008 «40H +33] 7,200
402 2I2H X201 M 190,000 190,000 0
01 2I2E 2 A B (KR 190,000 190,000 0
Osd&2 I3 Mg 70,000, 0002 4 2 x50% 140,000
OBNIEAE SEAY
50,000, 000 *2JH 2 x50% 50,000
SHMHEZEHINBEH 294 110,140 112,331 A2,191
101 @124 dl 45,440 43,631 1,809
04 D12t Z2XREE+ 45,440 43,631 1,809
OsteEsgitsdy 2Y 45,440
—Jlas 68,7203 x2H x240 32,986
- =54 68,720 x2H »382 5,223
— QX 68,7203 x2H 12 1,650
—42E= 39,859,000 x14% 5,581
201 Let2d] 12,500 12,500 0
01 At 22l 9,500 9,500 0
OAMMSHY BEHE 7 500,000& x53] 2,500
OJSHE 22 M 5,000,000& 14! 5,000
ONBUSE SH2 U ATEE
2,000,000& » 14! 2,000
02 2324l 3,000 3,000 0
OJ3dE MaAEH SX 22l 300,000& 105 3,000
206 M= Hl 2,000 2,000 0
01 =8l 2,000 2,000 0
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SN ED B (3H) - MEAY - BAS ol &k o8 ﬁlgﬁ HDZ2
OJIZ2AEE MA Mz 500,000 x4= 2,000
207 I & 36,000 40,000 A4 ,000
01 A& H| 36,000 40,000 A4 000
Ollsd =& M3 e
18,000,000 « 1Al 18,000
OXEEIIHZ Jsd AME Y
18,000,000 « 1Al 18,000
301 dEtE M= 5,200 5,200 0
09 HAIAHI XIS 2 1,200 1,200 0
Oztgdn=M FEHE WS 60,000 *x10H x23] 1,200
12 JIEtE A& =2 4,000 4,000 0
OB N=E ZAISE 4,000,000 14 & 4,000
401 Al HI L RO 3,000 3,000 0
01 Al&H| 3,000 3,000 0
OJIZBHEHAIAE B2 A 3,000,000 =14l 3,000
405 KHoHFE S HI 6,000 6,000 0
01 JHMY 2= EF S HI 6,000 6,000 0
OJIE8&d #2¢ 3,000,000 2= 6,000
NEAME 435 I8 =4 100,000 0 100,000
== 30,000
= 70,000
405 XHA&HF S HI 100,000 0 100,000
= 30,000
= 70,000
01 AL 2 ZF S| 100,000 0 100,000
OEHEXZAY 100,000
—SZ22AHX)| 2 100,000, 000& = 1CH 100,000
== 30,000
= 70,000
SAE EERAS EES XNEALY 30,000 10,000 20,000
o= 12,000
= 18,000
307 212t0| & 30,000 10,000 20,000
o= 12,000
= 18,000
02 QI AAIRE E X 30,000 10,000 20,000
OZHIEXZAY 30,000
—SAE ZEN A
10,000,000 *3IH £ 30,000
= 12,000
= 18,000
SAS JI24gE SHAMY 300,000 35,000 265,000
& 90,000
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(o
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o 210,000
402 BIZHRHE0| A 300,000 35,000 265,000
< 90,000
s 210,000
02 QIZEHEAIL B (01X S) 300,000 35,000 265,000
OZHIEx= AL 300,000
— i34y 2435 X AY
100,000,000 *3H A 300,000
< 90,000
i 210,000
S&E IIBIlEs EESFANFAAG 40,000 0 40,000
= 20,000
[ia 20,000
201 Let2d] 38,000 0 38,000
= 19,000
i 19,000
01 At 22l 18,000 0 18,000
O=HIEXZ AL 18,000
—s4&E I3l EES JlsE2 U=
18,000, 000& 14! 18,000
= 9,000
s 9,000
03 A2 Z Hl 20,000 0 20,000
OZHIE= At 20,000
—AMSZ AHIA BFS XA 5,000,000 43| 20,000
= 10,000
i 10,000
202 O4dl 2,000 0 2,000
= 1,000
[ia 1,000
01 = LHA YI 2,000 0 2,000
O3BIEX ALY 2,000
—JtEJls EES ANEXZA
20,0003 x2H x50 2,000
= 1,000
[ia 1,000
S0 JIBALE AIEEH e X (HEH 50,000 50,000 0
= 32,500
e 17,500
402 RIZER201 A 50,000 50,000 0
< 32,500
e 17,500
02 DIt 2AIL EZ (01 XS ) 50,000 50,000 0
O@SE0 LA 50,000
— =90 JIBAGEE AIEEH e XS (A
&) 50,000, 000& *17H 2 *50% 25,000
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©: s&EIHS CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
= 25,000
— =20l JIZAYE ALZEY M XK (X
gty ) 50,000, 0002 * 17 4 *50% 25,000
< 7,500
= 17,500
Hicl&s I3 A4S AlY 60,000 0 60,000
= 30,000
= 30,000
402 BI2H X 20| M 60,000 0 60,000
= 30,000
= 30,000
02 CIZEXIEANSE X (0| XM THL) 60,000 0 60,000
O=2HExZAY 60,000
—HI2IF I3 &3 AlY
60,000,000 =10 A 60,000
= 30,000
= 30,000
EY8E AHAY Al 22H HU= HES AMY 60,000 0 60,000
= 30,000
= 30,000
402 IV X201 & 60,000 0 60,000
= 30,000
= 30,000
02 BIZtXIEANYE X (0OIETHH) 60,000 0 60,000
O=2HEXZ AL 60,000
—&EYUE AHY Aldi)] 28 AUSE M33 Al
= 60,000,000 * 104 & 60,000
= 30,000
= 30,000
SAHE SAE B AME AY 60,000 0 60,000
= 30,000
= 30,000
402 SI2v 20| & 60,000 0 60,000
= 30,000
= 30,000
02 QIZtXIE A E X (0| XM THSH) 60,000 0 60,000
O2HIExZ ALY 60,000
—gSAXe sASBIE AME AY
60,000,000& =14 A 60,000
= 30,000
= 30,000
HE sABMNY S5 NRAY 28,000 0 28,000
< 12,000
= 16,000
307 2Iz2to| A 28,000 0 28,000
== 12,000
= 16,000

_28_




SN SUHERSD
MM sE=ENSFABHLY
©: s&EIHS CEERED)
- _ _ RE]
SA BB (SH) - NRAY - B Ol &F o4 %@ﬁ HRE2
02 QI AAIE E X 28,000 0 28,000
OEHEZAY 28,000
—dNE sASNY 4 NIAY
40,000,000 * 10 A *70% 28,000
o= 12,000
= 16,000
S22 693, 180 367,672 325,508
= 83,140
= 73,649
o 536,391
SHAMHSXRA 411,180 332,672 78,508
= 33,140
= 11,649
= 366,391
=E2ZTH 84 XN (MER W) 56,700 51,192 5,508
= 27,090
& 8,820
= 20,790
307 giztol & 56,700 51,192 5,508
= 27,090
& 8,820
= 20,790
02 Q2B AMAIE E =X 56,700 51,192 5,508
O=2HEXZ A 56,700
—sSsENE0S ARENE N
21,000,000 *374 2~ *90% 56,700
= 27,090
== 8,820
= 20,790
SEHEXNZA & OISoil&I dAE ALY 6,000 6,000 0
o= 1,500
= 4,500
307 212t0| & 6,000 6,000 0]
= 1,500
= 4,500
02 QIZHEAAIRE E X 6,000 6,000 0
OZHIEXZAY 6,000
—SEMEXNTAF & DFSHEI ¢4
1,500,000 5% x80% 6,000
& 1,500
= 4,500
SEEHSAA 138,000 55,000 83,000
201 LBt ]| 81,000 2,000 79,000
01 AP 22| H| 60,000 2,000 58,000
OsZMEIXAHYE nEHl K&
700,0002 *603] 42,000

_29_




SN SNERSD
Hu: g=aus
el Selael s Rl CER-ED
- _ _ RE]
SA BB (SH) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
OsZEMEINXNHE EE2E=2 M
4,000,000 x4= 16,000
OsZEdga2zd E282 M 2,000,000 1= 2,000
03 A2 | 21,000 0 21,000
OsEHMEIXHEE HENHHA
3,000,000 x73| 21,000
301 dEtE M= 12,000 8,000 4,000
09 #HAIAHI XIS 2 9,000 8,000 1,000
OsZEMEIXNHSE 2HsIF A& X AHE
1,000, 000& *13] 1,000
OsZHM&8g0ls 93 sdu=x
100,000& x5 x23| 1,000
OsZHME0s ¢&s, dZXY &I
50,000& 10 43| 2,000
OsZs&NEa2g 242 1,000, 000& 53| 5,000
12 JIEtE A2 3,000 0 3,000
OsZE0SssMIESLE 2AI=E
500,000& *63| 3,000
307 2Iz2t0| & 45,000 45,000 0
02 DIZFEAAIRE E X 5,000 5,000 0
OslllsUs&2s NH 5,000,000& *1JH & 5,000
04 CIZ2tSHALALS B = 40,000 40,000 0
Os&0t2 &2sH N3
25,000, 000& *2J0 A *80% 40,000
HMEoseld e NI (oernsg) 4,000 4,000 0
= 2,000
& 600
= 1,400
201 LBt Y| 4,000 4,000 0
= 2,000
&< 600
= 1,400
01 AP 22| d| 4,000 4,000 0
OZHIEXZAY 4,000
— SE0iE NUIA SEDS
2,000,000 *23| 4,000
= 2,000
o 600
= 1,400
HEgiseld e N(nesEd) 1,680 1,680 0]
= 1,050
= 189
= 441
307 Q12t0| & 1,680 1,680 0
= 1,050
=} 189

_30_




SN SNERSD
Hu: g=aus
Sl SO A KI (B9 ®R)
(o
SN BA(SA) - MRAY - BES 0l &t o il HImEET
o 441
02 It M AMHEE 1,680 1,680 0
O=HIEX ALY 1,680
—dEgtseld us 300, 000& *7H *80% 1,680
= 1,050
< 189
e 441
sEZZ =M 24 N (EIHH]) 4,800 4,800 0
= 3,000
= 540
s 1,260
307 glz2tol & 4,800 4,800 0
= 3,000
< 540
s 1,260
02 It MAMHEE 4,800 4,800 0
OIHIEx= At 4,800
—sENEsL0S 202
3,000,000& *24] x80% 4,800
= 3,000
< 540
[ia 1,260
Dol St H ot AHY 200,000 100,000 100,000
402 RIZEX20l ™ 200,000 100,000 100,000
01 RIZt Xt 2 AL E = (REA &) 200,000 100,000 100,000
Os& 2t LeAs S4X 2
10,000, 000& *40H 2 x50% 200,000
SEN N 282,000 35,000 247,000
= 50,000
< 62,000
e 170,000
SEMENY WERA 48,000 30,000 18,000
201 Let24E] 9,000 6,000 3,000
01 At 2t 2l 9,000 6,000 3,000
Ousszd 22 M=% 1,000& *7,000% 7,000
OZgusetzsl &% M&  500,000& *43] 2,000
206 M= Hl 33,500 22,000 11,500
01 M= 4l 33,500 22,000 11,500
OnNUFANA sENME Nz 7
500, 000& #7204 2= *53] 17,500
OunssZ ARMEEZOY NP
1,500,000& 78 10,500
OZdusetes Mgz 2
500,000 *7H 2= 3,500
Ousszd H8gEs + 2,000,000 «1& 2,000




<

n0

Kio

Hl w

3,500
2,500

1,000

10,000

10,000

10,000

24,000

24,000

24,000

100,000

100,000

100,000

H3r
Wikd
RIS

2,000
1,000

1,000

Off &t 24

5,500
3,500

2,000
1,500
2,000

2,000
10,000
3,000
7,000
10,000
3,000
7,000
10,000
10,000

H

i

H

mH

10,000
3,000
7,000

24,000

H

t

H

9,000
15,000
24,000

1

U

9,000
15,000
24,000
24,000

mH

24,000

H

9,000
15,000
100,000
50,000
50,000
100,000
50,000
50,000
100,000
100,000

i

fir

fir

100,000
50,000
50,000

i

i

no
&)
iy

o)
oll

301

fo
[

81 Xl

A
=

t

SH
1=}

09

ior

J
e

a

o0

fr
Jo

0
0
E]
)

S

2| %2

=

o

1,000,000

o
<0
H

b

12 JIEt

)

2l %10

=

=

200,000

=0ld

)

%

(Ol & XH

Ki
iy
&l

ol

~

(=1

A

OZHIE XA

oD

A
g

=
=

4% 1R

e

=]
(=]

10,000,000

Ha Al

10

0
OF
0
H0
OF
El
K
o

A=20ld

)

'OCJ

(01 & TH

Ki
iy
&l

=<
I

~

oJ

ol

OSHIE XA

il

2
0

o

KO
Ho
0F
=
[ t
Ho

4100 &

=

=

24,000,000

307 glztol &

K
H
8D
<0
R0
~J

ol

ol

O=HIE XA

=

2 x 100 2

=

100,000,000

_32_




N sttEasH
Hu: g=gws
el SEXNY CEEEED
SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
B MIlgY SO(ZAYEE FUHAM A 100,000 100,000
< 50,000
s 50,000
101 @14 Hl 25,227 25,227
< 12,613
s 12,614
M4 II2HZ22NSES 25,227 25,227
OEHIEXZAY 25,227
R EEE-PSPE Y EL IS -
&) 25,227
JlEs 68,7203 x 1 250 17,180
< 8,590
s 8,590
T 68,7203 x 18 60 4,124
< 2,062
i 2,062
HAxt==g 68,7203 x 1«12 825
= 412
s 413
A2 E 22,127,000 »14% 3,098
< 1,549
[ 1,549
201 YEr2 Y| 42,773 42,773
= 21,387
= 21,386
01 At 22l 36,773 36,773
OEHIEXAY 36,773
—sEMEdY T2 EZSHR(HAHE
A2d) 3,000,000 28 6,000
< 3,000
= 3,000
—SENEZE AREE LU (HHEHE)
773,000& x 14! 773
< 387
s 386
—SENE2E UEH NA(AHEHY)
800,000& =203l 16,000
< 8,000
s 8,000
— XYL JEEE MI(AHEHEH)
5,000,000& *2& 10,000
< 5,000
fia 5,000
—XY2dgL sENE2ZE IS ES(A
HEgsHd) 2,000,000 24! 4,000
< 2,000
= 2,000
03 A2 Z Hl 6,000 6,000

_33_




N sttEasH
Hu: g=aus
Chel: sENENY (&)
= - — SHE|
SN HH-S(BN) - MBAY - B 0l &t o8 il HlnE2
OZHIEx= A 6,000
—SEMEZY BEH HAH(AHNEHEY)
3,000,000& »23| 6,000
< 3,000
[ia 3,000
206 M= Hl 10,000 0 10,000
< 5,000
e 5,000
01 M2 4l 10,000 0 10,000
OEHIEXZAY 10,000
~HETZ2O 29 M2 PU(AHEAE)
250, 000& x4 2 x103] 10,000
< 5,000
s 5,000
207 A& 9,000 0 9,000
< 4,500
[ia 4,500
01 A2 ESHI 9,000 0 9,000
OEHIEXZAY 9,000
—sEME2AY T2 Y S (AAHE
44) 9,000,000 » 14l 9,000
< 4,500
[ia 4,500
301 LPEXS 8,000 0 8,000
< 4,000
e 4,000
09 HALAHIX &S 6,000 0 6,000
OEHEXZAY 6,000
—sSEME 2Z2HA F0=sIF HXIoH (S
gad) 2,000,000& *33| 6,000
< 3,000
s 3,000
1224 = 2,000 0 2,000
OEHIEXZAY 2,000
—SEMEZZ B0 B8 AL (A
ggd) 500,000 *43| 2,000
< 1,000
[ia 1,000
405 THobFH S| 5,000 0 5,000
= 2,500
e 2,500
01 AL EFFHSHI 5,000 0 5,000
OEHEXZAY 5,000
AW PHELM)| PA(ANEAY)
500,000& =104 5,000
< 2,500
s 2,500

_34_




2N

M MN@*E
e 5*=7|74|I|°J (chel & 9l)
qE|
S E B (3H) - MBAY - BES O Ak o8 %@ﬁ HD=2
S| HEEX 1,267,401 3,142,549 1,875,148
2 31,000
[ 179,240
2 1,057,161
=X 1,245,741 3,083,835 A 1,838,094
2 31,000
[ 179,240
2 1,035,501
=01 KA 230,000 230,000 0
402 DI2EXH2 0| & 230,000 230,000 0
01 DIEXH 2 AL E X (KAITH ) 230,000 230,000 0
OSIIH K& X2 AF 230,000
—SIAH(SESAAFD 2 2F)
2,000, 0002 *130CH *50% 130,000
—SEHYSAWM BHOIFH XX
50,000,0002 20K A 100,000
SO1 KA (ZHI) 435,000 378,000 57,000
[ 130,500
2 304,500
402 DI2FXH 20| & 435,000 378,000 57,000
[ 130,500
= 304,500
02 DIZEXF2 AL E X (O &) 435,000 378,000 57,000
OZHIEEAY 435,000
—SIHXNIAG (B2 28)
2,000, 0002 *435CH *50% 435,000
[ 130,500
2 304,500
Jl DIEZS24 NA(ZH) 28,000 28,000 0
[ 8,400
2 19,600
307 QI2+0] & 28,000 28,000 0
[ 8,400
2 19,600
02 QI2FA ALAL QI B X 28,000 28,000 0
OCH B EAY 28,000
— =8I OI2S2S24  2,000,0009 * 1404 A 28,000
[ 8,400
2 19,600
=e)| OIS ZS24 A 34,000 34,000 0
307 Q120 & 34,000 34,000 0
02 QIZHA ALAL R B X 34,000 34,000 0
Ose) IIS2=24 XAY
2,000,0002 %17 & 34,000

_35_




SN SHERE
at

M sYIAHEEN
el SIAHXH (22 &d)
A - ER(EN) - AR - B of & o4 SSa HIDZ2
BAX =228t7 23(&Hl) 3,000 3,000 0
= 600
= 2,400
402 2I2tXt=01 & 3,000 3,000 0
< 600
T 2,400
02 QX =2AMAE (0 ATHE) 3,000 3,000 0
OEHI XA 3,000
—ZAX =228 E5 100,000& =30CH 3,000
< 600
= 2,400
sIHEUHASE A2 L 357,941 995,035 637,094
101 124 4] 185,321 185,265 56
03 RIAHAZZ2NE > 47,097 0 47,097
OSIAHALUMSA: 2E EXARY Adl 38,597
—Jl=a 85,0003 12 %250 21,250
- 5= 85,0003 »1H +502 4,250
— g Xt==g 85,0003 x1H 122 1,020
—5¢=H 127,500 =1 x40 5,100
—4AUEE 31,620,000 *14% 4,427
—&&3 85,0003 »1H «30& 2,550
OLUsIAH =2l 204
20,0003 «6E 52| 1204 & 6,000
Ou=Hl s 250,000 52 »23 2,500
04 DIt 22 XS+ 138,224 185,265 AN47,041
OsSIALSUME A 2E 136,224
—Jl2= 75,000 *4H +2502 75,000
- =59 75,0003 x4 +50 15,000
— X 75,0008 »4H x 122 3,600
- =€=g 12,5003 4«40 18,000
—4A 28 111,600,000 *14% 15,624
—g&3 75,0003 x4 302 9,000
oum=tl s 250,000& x4 »23] 2,000
201 Yet2 | 121,620 108,770 12,850
01 At 22l bl 42,120 36,170 5,950
OSUHAMHA AIEd2E 270,000 *4H A+ 128 12,960
OLUAIHA 22X Sl 8,000& 38 *80L 1,920
OSUAMSA ROFHIAAEL
300,000& 504 A +12& 18,000
OSUAMAA 2E/23 =&
70,0003 13 »23] 1,820
O ALY SHOIXl =X & =Hl
90,0003 400 A =122 4,320

_36_




N sttEasH
M sHINAHSEZA
el SIAHXH (&)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
OUAMY SIH =5 IHEHX
100,000& =103l 1,000
om=tl s 350,000 x3Y x23] 2,100
02 2324l 79,500 72,600 6,900
OgUi=sJIiH BEg= 170,000& = 180CH 30,600
OgU=IIH d=Hl 1,500& *3,0004 4,500
OgUsIAH +22S, 228, 3717
100, 0002 *300CH 30,000
OYUAIE A EII2= 300,000 «44 2128 14,400
206 M= Hl 51,000 51,000 0
01 M= 4l 51,000 51,000 0
Ogdt=sJIAH el & 23 ¢
170,000& »300CH 51,000
sIHSEEX 2RI 10,000 12,000 A 2,000
= 4,000
= 1,200
s 4,800
402 RI2HXt20l 10,000 12,000 A 2,000
= 4,000
< 1,200
[ia 4,800
02 212t 2 AL EZ(OI XM TH ) 10,000 12,000 A 2,000
OZ3HIEx= AL 10,000
— I H SSEX REHIFALY
100,000& » 1004 10,000
= 4,000
< 1,200
i 4,800
E8 sgJH X& 44,000 126,000 A 82,000
= 22,000
s 22,000
202 O4dl 3,000 3,000 0
= 1,500
s 1,500
01 = LH 4 Hi 3,000 3,000 0
OZHIE= At 3,000
—SJIH ¢4EWE bl 20,000 *3Y x503] 3,000
= 1,500
i 1,500
206 M= Hl 5,000 5,000 0
= 2,500
s 2,500
01 M= 4l 5,000 5,000 0
OIHIE= At 5,000

_37_




2N sttERsSH

M sgIIAHEET

el S| & (S &2)
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—SJH ddUE A2F, 7 2
25,000 200K 5,000
= 2,500
s 2,500
405 XHoHF S HI 36,000 118,000 A 82,000
= 18,000
s 18,000
01 et ESFH S 36,000 118,000 A 82,000
OZHIEx= At 36,000
—USESYIAN(AIIHEZRY)
36,000,000 = 1CH 36,000
= 18,000
[ia 18,000
22 =FINAHS =5 =sLIAH N 16,000 0 16,000
< 4,800
e 11,200
405 RHoHE S HI 16,000 0 16,000
< 4,800
e 11,200
01 et EFFHSHI 16,000 0 16,000
OZHIEXZAY 16,000
— 2SS MIBus EHIH FL(SEM=
1 16,000, 000& = 1CH 16,000
< 4,800
s 11,200
sJH 282 N 7,800 7,800 0
< 2,340
s 5,460
307 21201 A 7,800 7,800 0
= 2,340
s 5,460
06 2= 7,800 7,800 0
OEHIEXZAY 7,800
—=sJIAEE =0t I2E Bz N
7,800,000& 7,800
< 2,340
e 5,460
HEE SEESY M2 2ot Z2HME X2 70,000 70,000 0
< 31,400
i 38,600
101 @124 dl 52,000 40,000 12,000
< 26,000
s 26,000
04 JIZHHZ2XREES 52,000 40,000 12,000
OZHIEx= A 52,000

_38_




2N

X{ XH -
S =

ool SJH X CERED
= _ — d =
SN BA(SA) - MRAY - BES 0l &t o il HImEET
—SIHHALUASEE 2AHl XA
1,300,000 x4H x10& 52,000
< 26,000
s 26,000
405 XHoHF S HI 18,000 30,000 A 12,000
< 5,400
s 12,600
01 et ESFH S 18,000 30,000 A 12,000
OZHIEx= AL 18,000
—dEYH =EEY M2 got)] ZZ2HE =
QI XA (=AM 2d014) 18,000
18,000, 0002 = 1CH
S 5,400
s 12,600
SEIH EDE ALY 10,000 0 10,000
= 5,000
s 5,000
202 04l 3,000 0 3,000
= 1,500
s 1,500
01 = LH 4 Hi 3,000 0 3,000
OZHIE= AL 3,000
—SJIH ¢tE W= Hl 20,000& *3H «50 3,000
= 1,500
s 1,500
206 M= Hl 7,000 0 7,000
= 3,500
[ia 3,500
01 =8l 7,000 0 7,000
SHIE A 7,000
—SJH ddIT A2F 337
25,000& 2804 7,000
= 3,500
i 3,500
s)HusS=#d 21,660 58,714 A 37,054
SIIH &al+=cltt 2 20,400 57,454 A 37,054
202 O4dl 5,400 5,400 0
01 = LH 4 Hi 5,400 5,400 0
OsJIA =22lus ol
20,0003 »3H 90 5,400
206 M= Hl 15,000 15,000 0
01 =8l 15,000 15,000 0
Ozsl+2l8 28, 425, 27 7Y
100,000& 1508 15,000
SIAH s N& 1,260 1,260 0

_39_




SN SNERSD
HzM: sHI|HS=E
Sel: S NS E (ol @)
SN ED B (3H) - MEAY - BAS Ol &F o4 ﬁlgﬁ HDZ2
301 et A= 1,260 1,260 0
09 SHAIAHI X &2 1,260 1,260 0
Osgol sJ)AHuEE X 28,000& x45% 1,260
HHSAAL (SAHESRED) 97,216 102,016 A 4,800
JlE&dl 97,216 102,016 A 4,800
Jl2 &4l 97,216 102,016 A4 ,800
201 LBt 56,956 56,956 0
01 AP 22| H| 44 052 44 052 0
OBANEZNH 1,831,000 x20H 36,620
OF=1=1s] 8,000 x20% x25 4,000
OZ = A X 286,000 x1CH*x12& 3,432
02 B32%H| 12,904 12,904 0
OXER A 22l 11,600
— A83=2 5,800,000 =2CH 11,600
OxgeEs= 1,224
— A83=2 612,000 «2CH 1,224
OXs ZHA 80
— 3= 40,000 *2CH 80
202 04| 36,000 40,800 A4 ,800
01 2Ll 36,000 40,800 A 4,800
O2L o 1| 100,000 x20H x12& 24,000
O22 4 1] 75,0008 20 x8! 12,000
203 SR F & 4,260 4,260 0
02 AAADJMALAH 2 =X H| 660 660 0
OFJIatE 2=&8H| 33,000 x20H 660
04 EASHIRFEH| 3,600 3,600 0
ORI ERFEH| 300,000 x12& 3,600

_40_




